Fall, 2017 Name: KVE[
MAT 162001 Test2 Version 1 Gurganus

Directions: Show all work for partial credit purposes. You may use a graphing calculator.
Otherwise the test is closed book. Each problem is worth 20 points. Problem 6 is 20 points extra

credit.

1. A cylindrical tank 8 feet in diameter is lying on its side and is half full of oil of density 74
Ibs/fi® . What is the hydrostatic force on one end of the tank?
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2. Suppose the average waiting time for a customer’s call to be answered by a company
representative (modeled by an exponential density function) is 10 minutes. Find the
median waiting time. Find the probability that it takes more than 15 minutes for the call
to be answered.
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3. Find the length of the curve y =x!%,0<x <5.
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5. Find the
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6. Letfix)=ke®™forx> 4 (forx< 4,f(x)=0).
a. Find the value of k in order that f{(x) is a probability density function.
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Fall, 2017 Name: &%

MAT 162002 Test 2 Version 2 e Gurganus

Directions: Show all work for partial credit purposes. You may use a graphing calculator.
Otherwise the test is closed book. Each problem is worth 20 points. Problem 6 is 20 points extra

credit.

1. A cylindrical tank 10 feet in diameter is lying on its side and is half full of oil of density 76
Ibs/f® . What is the hydrostatic force on one end of the tank?
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2. Suppose the average waiting time for a customer’s call to be answered by a company
representative (modeled by an exponential density function) is 12 minutes, Find the
median waiting time. Find the probability that it takes more than 15 minutes for the call
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3. Find the length of the curve y = 4x!5,0<x <5.
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5. Find the centroid écenter of mass) of the region bounded by the curves: y =6 —x and
R
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6. Letf(x)=ke*forx> 5 (forx< 5,f(x)=0).
a. Find the value of k in order that f{(x)is a grzbability density function.
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b. Find the mean of the probability density function.
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